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SOLUTIONS
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As, the folk-dance of Gujarat is Garba.
Similarly, the folk-dance of Punjab is
Bhangra
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As, 108 x 108 = 11664

Similarly, 106 x 106 = 11236

Except Freezing-Cold, in others 2nd
happens due to Ist.

Similarly,
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change the symbol as per detail,

48+4+3x4-6x4=12+12-24=0,

(9+11)x3=60
(13+17) x4 =120
(40 + 41) x S = 405
7+2+4+6=19
8+3+2+6=19
2+4+7+6=19
4x3x5+10=70
11 x8x2+10=186
7x5x3+10=115
(7+4)=x8 =88
(5+5)%x6=60
(B3+1)x4=16
ATQ,
Required number =
21. (B)

/Wh]t\ 1. True
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25. (C)

43 + 57 = 100
22. (A)

II. True
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59. (2)4320=2x2x2x2%x2x3x3x3x5
=23x33%x22x5
s AR 8 =2 x5 %x5=50
80. (1) (0.9)° + (0.1)3 =0.729 + 0.001 =0.73
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F: A NPT =64 F 139 WA 3 W WE
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wEE = 12 81. (1) §1000 +%0.008 -¥0125 =10+0.2-0.5=9.7
83. ()R w8 =H& @ 62. 3)A:B=3:4=6:8
a9 =44 H B:C=8:9

* A:B:C=6:8:9

83. (4)3{1&\123&1:13 = %XIOO=40%

~ 4H+H=1125
= 45H=1125

_ 125 _ g
B 64. (1) 92 = 650 - 572 = 78 T
. W =44 x25=1100 S0
x
a5, o T K% & A =78
; ; 100
TEell HEA x TEY HE = |4, x 04,
s 25 x TEA W& = 1100 x 25 - 786’;:)‘}0:12%
.'.{Hﬂ%f@ﬂ=¥=lloo R T
65. (2)A = P(l+ﬁ]
g
54. (4) 0.1% = —— =0.001
100 RV
55. (3) A | a5 &1 %9 4 1 T91 & =’2=1(l+ﬁ)
4 TGA H FI TH = 4 TIC
1
4 IEA F foa g9 = 5 w9 o
6
¥ R
. T R = 2 x100 = 25% 4=1 (1+ﬁ]
56. (4) 3igF9 1 ¥ § . . WHY =6 o
3+4=7 66. (3) srbelt wigen g 1 A # o/ mar &
7+8=15 1 1 _5-4 1
15+ 16 =31 ===
31+32=63 9 19 40 W
o et wigen 40 A ¥ FW @ M
63 + 64 = 127 | 67. (3) U=l ITER ® Wai® =x, x+2, X+ 4, X+ 6 T
xX+8
1+42  1-42 C X+X+2+xX+4+x+6+x+8=185

= 5x+20=185
= 5x=185-20=165
165
= x=? =§3
s Io9qH AF=x+8=33+8=41

68. (2) ® & = 80 + 60 = 140

57. (3) &S = P e g
_(1+43)(5 - ¥8) +(46 +B)(1-3)
(8 +¥s)(5 - )

V5 +10-V3-J6 +45

= i (L [ 80x60 60x80
- 5-3 _ 80x X
F 39t whaeff = — 0= + o0
=2J5_2J§_2(J§_J§) =48 +48=96
2 - 2 96 480 4
WW:mx -—7"=68 ?%
-5-06
3
58. (4) 110> = LH=JM 69. (1)5V5 x5% + 5 2 =5+2
4 4 2x2 i §
2 3:p 2 =Ha+2
=321—=10%=10.5 = D% HIxoP+pd =5



70.

71.

72.

1 3
51+-2-+3+E _gas+2

= 58=5%*25a+2=6
= a=6-2=4
[@"x a*=a™*™]
[am+an=am-n]
B)x*-3x+1=0
= x¥l=3%

x?+1
X

= =3

= x+ =3 veeeeenenes (1)

x|

x®+xt+x? 41

L gm L (xrd) o e d)
= x+; -3.x. g v t X

=33-3x3+3=27-9+3=21

(2) 15 Iir Milk
(Add)
30 1tr Mixture
15% Milk 85% Water
d

4.5 Ltr
Total Milk = 19.5 Ltr
=195 100 = 195 ;100

45 450
_ 39x100 _ 390 - 390 - 44.4%

90 9 9

(2) Sol" : -
wktP+R+2Q = 59—{i)
Q+R+3P = 68 — (ii)
3P+ Q)+ 2R = 108 — (iii)
From eq® (i), (iii)
eq” (1) x 3 — eq~ (iii)
3P + 3R + 6Q = 177
3P+3Q+2R = 108

=63+ @

eq” (iii) — (i)

73.

2Q+R=40 | W
From (iv) and (v},
Q=29,R=-18

Put in eq” (2)
29-18+3P=68
3P=57

[P=19]-Ans

(1) w1 fF YR 96 = x 9 2

% 4% AfF T & : 9 FoA dad 1 (100 + )%
= 104% T 21

R Ia o WA 2.5% FH 9 21 o Afwd T
T I 1 (100-2.5%) = 97.5% a1 &1 AW 5%
25000 T 21

3d: x T 104% FT 97.5% = 25000

104 975

= XX —100 x _100 = 25000
2 ST9 %000

= XX 9571000 =
28 2 s

= XX 25 10 = 5000
25 x 40 x 25000

- X= 26 x 39

= 724654.8

74. (3) .. Total Amount =¥ 680

75.

(e TfEm)

2
A—EB..A.B=2.3

1
B= 4CE’-.C=1.4

A:B:C
2x1):3x1):(3x4)
2:3:12

12
1T
(3) Gold

x680 =¥ 480
Copper

N

15 Mixture
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= [3:2]Ans



